Installation Instructions
For part #127056 Dyna/Street Bob LP6 Bracket for Memphis Shades Road Warrior Fairing

( \

Kit Contains:
cn LI HHISED 1- Main Bracket 127056-1
2- Stiffener Support Plate 127056 with 3/8 hole and 127056-3 with 5/16 hole.
M o T 0 1- 3/8 x 1 3/4 x 24 Grade 8 bolt & Nylock Nut Fine Thread
1- 5/16 x 1 3/4 x 24 Grade 8 bolt & Nylock Nut Fine Thread

Performance Lighting Specialist 1- 3/8 Grade 8 Washers  1- 5/16 Grade 8 Washers

\ J

Thanks for purchasing our Dyna/ Street Bob Lower Clamp Center Hole Mount for an LP6 Light. This bracket is very
simple to Install. IT does require a clean surface and a significant torque on the main bolt in order to insure proper install.

1. The main bracket attaches to your lower clamp 3/8” hole. See Image 1#. It's important to have the lower clamp.
As per image below, this hole will secure the entire bracket and stiffener system.

Image#1 2. Reference the image below and use the matching stiffener plate
i -‘ for the bolt used. We have supplied two versions of the bracket: one
with a 5/16 inch bolt and one with a 3/8 inch bolt.

Image#2

J 9.

3. Locate the hole at the center of your lower clamp.
Determine if your bike has a 3/8 hole or a 5/16 hole.
Use the largest shoulder bolt that will fit. The bracket S
goes on top first, then choose the matching top plate [§
or stiffener. Followed by a washer and nylock nut. '
Ensure that both the LP6 bracket and stiffener plate
are straight and aligned with the lower clamp.

Part# 127056-1

4. Once the main bracket is tight and on bike, You can
Install the LP6 per instructions on your kit.

5. Wiring Instructions come with each wire kit.
#127056 Stiffener Plate

with 3/8 Hole
#127056-3 Stiff Plat . .. . . .
with 516 Hole 6. The Road Warrior Fairing installs after light kit.
Cali Raised Moto Phone: 714-534-6700
PArt #: 127056 Rev #

Dyna/Street Bob LP6 Mount For Road Warrior Fairing

Hardware Kkit:

1-3/8 x 1 3/4 x 24 Grade 8 Socket Head ,
1-5/16 x 1 3/4 x 24 Grade 8 Socket Head ‘3%/)
1-5/16 Washer Grade 8
1 - 3/8 Washer Grade 8

File: Installation_ Instructions 127056 Install




